réf. CPR6L [cassalin|

SAS CASSELIN
83 rue Marcel Mérieux
69960 Corbas - FRANCE

No1: No2:

% M5 Nut 3Pcs
<

\GS Spring washer 3Pcs
@5x12 Flat washer 3Pcs

Sk

%\MSXQ Screw 3Pcs

\? M5 Nut 4Pcs

@5 Spring washer 4Pcs
@5x12 Flat washer 4Pcs

J'\Mmz Screw 4Pcs

M5X12 Screw 7Pcs
@5X12 Flat washer 7Pcs

@5 Spring washer 7Pcs
M5 Nut 7Pcs




